
    
      Fig. 3 
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        Grid of characteristic lines in the s–t plane.

      

    

  
    
      Fig. 5 
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        Variation of mixture average velocity with gas kick time and well depth before shutting-in the well.

      

    

  
    
      Fig. 7 
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        Variation of water hammer pressure versus time with or without gas kick (shut-in time 10 s).

      

    

  
    
      Fig. 10 
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        Variation of water hammer pressure with time under different gas kick times (shut-in time 10 s).
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